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Temperature Prediction
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25 defaultdict(<class 'int'>, {25: 32, 26: 17, 24: 7, 23: 1})
26 defaultdict(<class 'int'>, {26: 12, 25: 15, 24: 2})

24 defaultdict(<class 'int's, {25: 9, 24: 3})

23 defaultdict(<class 'int'>, {25: 1})

1 from collections import defaultdict

3

; 2. e

3 transition_counts = defaultdict(lambda: defaultdict(int)) ]Q
: Y

5 for i in range(len(discrete_temp)-1): 5 ‘

6 transition_counts[discrete_temp[i]] [discrete_temp[i+1]] += 1 "-'-‘- ' 1
NN ST = - 219 I |

1 for i,j in transition_counts.items(): _24_ > 25

2 print(i,j)
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1 # convert the transition to probability

2 transition_matrix = {}

3

4 for i,j in transition_counts.items():

5 total = sum(j.values())

6 for k,v in j.items():

7/ transition_matrix[(i,k)] = v/total i
8

9 print(transition_matrix)

{(25, 25): 0.5614035087719298,, (25, 26): 0.2982456140350877, (25, 24): 0.12280701754385964, (25, 23): 0.017543859649122806,

- /= A

Ls conetyucs
Ma '« Mawx

0 l 2 3 4 5 c
29 26 24 25 26 23 26
23 25
25 261 251, 231
16 241
24 26:|

—

0L \ 1
0-2- (23

0] 24

’V\—ﬂz U gjg p ond &tf\aj/(ﬁﬁo\m exryoy

MSE vs p

[

Cows(s-ken%’@
more imporiant”

10 15 20
p

Os completed at 8:59 PM



NLP —NATURAL LANGUAGE PROCESEING
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361 1 # read the file
2
3 with open("The_Time_Machine.txt","r",encoding = "utf-8") as f:
4 lines = f.read()

371 ;import re con Ve.r'q—“mﬂ/ Wd‘g ""'O

3 lines = lines. lower() =% wwey Cone
A
[») 1# remove the punc
2
31 b(r"["\s]","", lines)



